A 0 O 0302/0722

Third Semester LL.B. (3 Years Course) VIl Semester of Five Year
B.A. LL.B./B.B.A. LL.B. Examination, Dec. 2012
LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answerall questions.

2. One essay type and one short note question or problem
from each Unit have to be attempted, which is referred as
Part (a) and (b) in all the Units.

3. Figures to the right indicate marks.

4. Answer should be written either in English or in Kannada
completely.

UNIT -1

Q. No. 1. (a) Elucidate the Labour Policy of India. Marks : 15
YPTTT BT eSO, BTHRRO.
OR/&5wm?

“Industry is an organised or occupied activity carried on with
the co-operation of employer and employee to meet its
object”. Justify with the aid of Bangalore Water Supply
Vs Rajappa case.

53,0039 MTTRATAE FLomN Q03RS =y 03RS
RRTOTRRODN ROPESBN 35300 ofgsd?gw%mﬂ 3rigdnor
ee0ResE Eroos #oz'jpojymda@da”. WoneRDd WTT AF
ebd)i% TORT T, SEVFT FTRR0T BROPFRO.

(b) Write note on principles of Labour Legislation. Marks : 5
JT ToRING 3%7?%3 BOOB 8TET WIOW0.
OR/&5wm?
Distinguish between strike and lock out.
m@—-’%d WY WeNBVT, [es a’%mgm@.
P.T.O.
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UNIT -1l

Q. No. 2.(a) Define Lay-off. When the lay-off shall be treated as valid ?
What are its effects ? Marks : 15

WTREM WO TOGRARD.  CIRTN  LVBR N wo@oﬁaﬁ%
DT WO SYODTNMRT ? BT TOFTRINTERD ?

OR/egw

Critically evaluate the legal control on unfair labour practice.

BINB JNT SWORNG  RBoeOH TTRJE 00T 30D
we@?gmﬂ dﬁ@seéma

(b) Write note on recovery of money due from the employer. Marks : 5
D03REEBIOT 208 BT FAAURE B0 &3TEF LTOWO.
OR/e&5se

Write note on Industrial Employment (Standing orders) Act,
1946.

B0 wvdgen (%Cﬁ@ eﬁdeéﬁ@cﬁo) ©O03R, 1946 T 302D
£33 233000,

UNIT -1l

Q. No. 3.(a) Discuss the provisions relating to registration of trade
union. Marks : 15

5&3 ROPT RRC0TIE B0 @@mm@ WBFR0.

OR/e5ee
Write in detail the provisions relating to procedures of
workmen compensation claims.

ROFI0 IZLIF FRONY 0D BOWE MR DB

DR0.
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(b) Write note on fatal accident.

Q. No. 4. (a)

(b)

BRTF0EE LTFOB 00D 30T WIOWO.
OR/&gw

Write note on cancellation of registration of trade union.

R ROPT SReoTEI0D TS B0 8TV WTCW0.

UNIT-IV

Can an employee avail the benefit of pension under the
Employees Provident Funds and Miscellaneous Provisions
Act, 1952 ? Analyse.

J°9300 m%a-s NIATAL= méo w@mdo mﬁewrmneﬁ
20030, 195283 @moé D[eBIT —%@wsm J0BO0
wdmmgw&de 2 éw;e&f%@

OR/egw

When an employee is entitled to claim benefit under the
Employees State Insurance Act, 1948 and mention the
different benefits available to him.

DOT00 To%y U RO, 194808 Todeens THODLO
QPBORO OTTETN SR TR 208 LR3I VLAWTITIE DT
WO @@aﬁagﬁ%fag TRORO.

Write note on dismissal during absence of pregnancy under
the Maternity Benefit Act, 1961.

on —’@mj 2003, 1961 TR @abd%écm POTE P
B0 &%w?’é 2030000.

OR/egw

Write note on Maternity Leave under the Maternity Benefit
Act, 1961.

TR AP, LRI, 196106 o7t Tef BB &5:0E3 LB

0302/0722

Marks : 5

Marks : 15

Marks : 5
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UNIT -V

Q. No. 5.(a) Who can claim minimum wages ? What shall be the
content of claim application ? How the claim application
shall be decided ? Marks : 15

%@m mmaojom 033030 %em BINTLTOTO ? %em €923 030
@d%ﬁ@d&ﬁ@&‘? %em eﬂﬁroﬁaa’n Ien éem'rmweéao

OR/e5s0

Ouitline the provisions relating to health under the Factories
Act, 1948.

TR RNG LWHACDRD, 194838 &Tpery 30T mwwocﬁmﬁ@t
WO,
(b) Write note on licensing of contractors under the Contract
Labour (Regulation and Abolition) Act, 1970. Marks : 5

BORT JEsT (é’oojooésa w02 dci%) I 1970 IB
ﬁaéﬁmd@ﬁ DOIN 3203 wwsé 20B0200.

OR/e5s

Define “employee” under the Minimum Wages Act, 1948.
TR, SR LRI, 194838 “IPFTTI” TOLRARD.
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Third Semester of Three Year LL.B., VIl Semester 5 Year B.A./
B.B.A.LL.B. Degree Examination, December 2013
LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer all5 Questions.

2. One essay type and one short note question or problem
from each unit have to be attempted, which is referred as
part (a) and (b) in all the units.

Figures to the right indicate marks.
Answers should be written either in English or Kannada
completely.

> w

UNIT -1

Q. No. 1. (a) Define ‘Industry’ and whether Hospital is an Industry ? Marks : 15
URTIONTY TATVIND TBY SIS, VRT3 ?
Q O ) - w2 Q
OR/eg@m
Define ‘strike’ and ‘Lock out’. When they will be come illegal ?

' 02 ‘TeTNED .30 B &5y OIRERN TR
mc:é e:srbéd‘)

Decide the case : @569@55& QEIE O

(b) A Chartered Accountants firm employs 70. The employed
raised a dispute demanding bonus. The appropriate
government makes a reference to an industrial Tribunal. The
employer submits that the reference is improper since he is
not running an industry. Decide. Marks : 5

20T PPWETEE IBR0E3083° TENTIOZOD 70 aﬁdﬁa Q031062333
5 008 JBREWITOWITO  WREIFMON z:?e@é NURENDR A
3riodneyT. RRT ~d®§@ S TYRII), TR ww%mfﬁ
oD, BTG DOSREED édda em@da BY DO FTFTT
mm wémmﬁ E’DCSF@N@

OR/e.-az%m
Whether ‘University’ is an Industry ?

@% é)mgseojam 20T uRE0de ?

P.T.O.
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Q. No. 2.(a)

Q. No. 3.(a)

2- AU AR

UNIT -1l

Explain ‘Unfair Labour’ practices on the part of employers
and Trade Unions.

BROFT [T TFF ROPNS FHOWOT ‘&SNIT T T w%@
QOTTEZD ? VIO

OR/eg@m
What is lay off ? Explain the provisions relating to lay-off.

PUTIREN 200 OTBERD P LVTIREN WORT FOWORRT SUTRIOGTIHRD

QO
Decide the case : @565@5@ QEIEONVA..

Employer refuses to give the benefit of certified standing
orders to ‘X’ on the ground that ‘X’ was appointed after the
certification of standing orders. Workman challenges the
decision. Advise.

‘éa’o ADOW STEBNG  TR/INEIEFTEITIT  [0ST ﬁemémﬂmﬁ
@ow '@dsa%bﬂ wmmédsamd DO ST3e3NG eI éracée)a
QTITORITS. a@ar%m e3 Ebsarojad:n TS ? FUB 8RB,

OR/egw
Labour Court

BT masodfae)oja
UNIT -1l

What are the effects of registration of a Trade Union ?
When the registration of a Trade Union can be cancelled ?

L DIASTE #o@dﬁg{ JRCOTOWRITOOT &M BOTORINBEID ?
ORE ROTIF Y, FTOFT ROPT [REOTESONTY TR TRRTD?
OR/&5we

Explain the theory of ‘Notional Extension of Employer’s
premises, with the help of decided cases.

“RBROBI TN @@@5 @Nd_"”OjD %6%0355& STV
@jédsaﬁ%f Ffspleveialen @S@N@.

Decide the case : @569@5@{ QEIE AR

Marks : 15

Marks : 5

Marks : 15



D LAY 3

(b)

Q. No. 4. (a)

Employees of Raj Bhavan apply for Registration of Trade

Union. Registrar of “Trade Union’ refuses to register. Decide.

TO% LIBR0 FOFTT TG0 T FOF RPOTIVONALD 23 AQRISYT,
B ROTPT FREOTINTES LEITOMRD FROTIHOWVTLD QTIBORIST.
QPFORD.

OR/egs

‘A’ was employed for 15 days as a sweeper in a factory. One
day when he was on duty injured by a moving machine in a
claim for compensation by ‘A’ Employer defends that ‘A’ was
not a workman. Decide.

‘e T, 15 QINVMRN FRMORRE FORE FeWRTRNG. 20T
OF @ 3RT Soedmn WORNE BN MODRRW TS,
' R0 BOTOTTYN L3R SRRN ‘¢ FRF BT BRI
OOROTE. AT,

UNIT -1V

Mention the various purposes on which the employees
state Insurance funds may be spent.

FOE BT ooz QBT %saddaq odnw O3 m%@érﬁ@ﬁ AW
BINTLTOTD SRRQO.

OR/e&5we

Discuss the mode of Recovery of Moneys due from the
employer under the EPF Act, 1952.

PH03 T 2O SEDOBD, 19528 RODY, ARGROT Wt
BB BeoRT, FARD TRBLD TRF DFPIMERY W0,

Write a note on : 2,020 wa’isé 2030000.
Medical Benefit Council under ESI.

FOIEBT 0%, DR RO Qﬁd@@?ﬁx DORS.
OR/e5me

Advantages under Maternity Benefit Act, 1961.
SR 238, 503, 19613 LRBROND.

0302/0722

Marks : 5

Marks : 15

Marks : 5
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Q. No. 5.(a)

4 OO AR

UNIT-V

Explain the procedure for fixing and revising minimum
wages.

ézoag) ﬁeédﬁ@o{ AN TRTOR TN mgaﬁm @;@oﬁaoﬁaag
DTORD.
OR/e8me

Discuss the provisions relating to welfare measures under
the Factory Act, 1948.

BTV ING Rlews) ,19480 &80, %edfaw%cﬁoda BTN 300D
wwwocjrﬁ%ﬁa’g U323 0.

Write a note on Central Advisory Board under Contract
Labour (Regulation and Abolition) Act, 1970.

30T Jeso (aodaogsa W08 zﬁcé%) ani% ,1970 T ©2@03090D
‘%eo@ FOTD OB wﬁ\ &33’3;'5 2030000.

OR/ege

Write note on “Registration of Establishments Employing
contract labour.

FOOTD JBT SeR0B MZ%é@eégd ﬁo:'gf%f 30T BOOBD @85’&55
2T0200.

Marks :15

Marks : 5
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Il Semester 3 Year LL.B. / VIl Semester 5 Year B.A. LL.B./B.B.A. LL.B.

Examination, December 2014
LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer question No. 9 and any five of the remaining

questions.

2. Q. No. 9 carries 20 marks and the remaining carry 16
marks each.

3. Answers should be written either in English or in Kannada
completely.

Rowndo: 1. T3 3097 ) WeEINYD, cIRPcie 8 FInert Koo

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

2. @Ei 0. 93 20 OB WY YWPTHNIR 20 16 03N
3. emgdmﬁdi ROTIOERF S0M LI %Q{d ERTONE [E, YUZORD.

“All workmen are employees but all employees are not work
men”. Explain with the help of decided cases.

‘e, DAL o)) emdf%eﬂr{eﬁo 3533 DY md@seﬁmﬁo @@3?56@;’.
Qedee3 @56:@#@5&3{ FTOONTROAR D=O0.

Define “Industrial Dispute”. When does an individual dispute
become an Industrial dispute ?

“BRRyens @md”ﬁa’g{ TYTYRR. 20T FOIRT VT O3RN
“mir%eﬁ% 9T " TNIZT 2

What is “lay-off” ? Explain the provisions of Industrial Dispute
Act relating to lay-off.

“eUTigen 205 Q0BT ? BRERENT Q9T TOWTD “NTER N
00’ RO wﬁwodﬁ@d& DROO.

Explain the provisions relating to recovery of money due from
the employer under Industrial Dispute Act.

TR, eNB 30T LRACRTRADY  ACIRCHBIOT FAOF BN 308
WOLICTT éwd@% RRALD TRT/LO VT mﬁwocﬁﬁ@d& QWORD.

Discuss the provisions of Trade Unions Act, 1926 relating to
Registration and Cancellation of Trade Unions.

TUFT FOPLIRNY LHA0O, 19268 To0WTONG T8 83
ROBTY BT 20 THENE i} DTS YUTVOTFR), 238720,
‘ P.T.O.
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Q. No. 6.

Q. No. 7.

Q. No. 8.

Q. No. 9.

2- N O

Discuss the liability of the employer to pay compensation under
the Workmen’s Compensation Act, 1923.

TIFT TOTT WHACLED, 1923 TRCEDY. BRDBRD TR0 BN
TOTT RERN LPFIOIRY BWFRD.

Explain the provisions relating to the “Safety and Welfare” under
the Factories Act, 1948.

TAE0IE NG WHICNRD, 19480, “:bdé:a’ =02 %era & wﬁ QTN
SUTRIOTNTT) QTOR0.

Write notes on any two of the following :
CINR)THTTN NTET wrﬁ\ 2333 2230200.

a) Kinds of benefits available under Employees State Insurance
Act, 1948.
TONFE0 To%y R FONT, 194809 TRTcINE 0T
T,03R I,

b) Essential features of Contract Labour (Regulation and
Abolition) Act, 1970.
19703 303) TF 8 (ACIOZed o= daﬁ@) TOWTION o0,
@%samfo

c) Object of Minimum Wages Act, 1948.
é‘@e,—-’% BB ©@HA0T, 19483 emcg@i

Solve any two of the following problems :
030)TOTIR QTB, SVZ0R.

a) The workers in concert absent themselves out of sympathy
to some cause wholly unrelated to their employment or even
in regard to conditions of employment of other workers in
service under other management. In these circumstances
the management initiates disciplinary action against the
workmen for their absence on the ground of breach of
conditions of service. Workmen argue that they have right
to go on strike. Decide giving reasons.

TIROF BT TOOTON Bedy YVTR, NS, BOWORIQTe BTT 02
VBT FWF TS NRRENT Tore 3560 RS @aeddeﬁdm
TOFFT NTRRENT 53?71@?7? TOWOG BTTE BT FQIF 2o
LITBOR ﬁgw@w@o 30R) @dsar{%fda B000EEROT FURE
R TowOARImT. 81 ROTHFRE), BEIER ©0SE BRI
aeéoe@” POTIR N FO0TIRNT 90O ORI &Y T, aoaao
éﬁméroeﬁoézﬁ 83 FOTPFTY, FRFED R ;’mm%d RRER

%ﬁ) ﬁraoaz,ied QOTD m@w@d QTEOX TOTLD DA
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b) “A” is employed as a Security Inspector at the gate of the
factory premises. Is he a workman ? Give reasons.

A7 O 2,05 F230F 00 TERE T,003S) 4P Q0EEREO0IRN
md@geﬁoﬁfaﬂ@bﬁ. B3B3 TOEBIC ? (wcﬁf%eﬂoﬁae ?) B0
SPR.

c) A boy is employed by the factory in a tea shop and it was
part of his duty to take tea from the shop which was situated
outside the factory gate to various persons working in the
factory. One day when the boy was comming out of the
factory after serving tea to the workers he passed through a
violent mob of factory workers who were leaving the factory.
This mob attacked the police and the police had to fire upon
the mob in self-defence unfortunately, the boy was severely
wounded by a bullet and died on the following day in the
hospital. Now the mother of the boy claims compensation.
Decide giving reasons.

20030 FATOE RO 22, m@%ﬁa’% & BT HONE BRI
TOOFBON 2350 JTLO FeeB RWRADY. & WU & TTIF N0
BRB 00 BRONE QT0= W8T LONROOT FoT0F R0
TAFBON 2330 BTN, eNTOTY 2,000 QWA FITOF HOW
TOFFON WD BOLD PUTI TFFOD TFe3 2,83
TRONE WORNN T,08 BRONE 0TRT 39T 38
FSTOF RO FTEWFBO rbowaigt TREOEE B3 MO0 @dﬁ?d oee3
P INRTN e:sdgédo ¢9530 :);daeaﬁ ooRT @0 eI
VRRYT. B3 ROTPFTE Fo0FTHON TFTONR 3 STLO
S0VC WPOTI WTFRRTT eﬁzﬁaﬁd 11ReDOV0T NoYeToN
MOORRROEY [ITOOBT  STZ,00, 2888, FOTOWRNT
RIS, BN WOVTT ToOW FFRON QTG TOTRT
369 0% TBRTOTY. F90D A& IFORD. ‘
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lll Semester 3 Years LL.B./VIl Semester 5 Years B.A. LL.B./B.B.A. LL.B.
Examination, December 2015
LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Question No. 9 and any five of the remaining
questions.

2. Question No. 9 carries 20 marks and the remaining
qguestions carry 16 marks each.

3. Answer should be written either in English or Kannada
completely.

Q. No. 1. Explain the definition of “Appropriate Government” under
Industrial Disputes Act, 1947 with reference to decided cases. Marks: 16

@Cﬁx%eﬁé DT WHIOHT 19470 ©BR0DY  wIXE ‘AR
ROTT’ T w00, APFOS BESeaNLoDR  QE0%0.

Q. No. 2. Explain the provisions relating to regulations of strikes under
Industrial Disputes Act with the help of decided cases. Marks : 16

BARENT DTNY  QICZOTY, daoaid ARFTH  BOTT
TRADIY, VGO FITLANY FTODROT 0RO

Q. No. 3. Explain the provisions of Trade Union Act relating to the
immunities available to a registered Trade Union. Marks : 16

T BT RO LR0IROT eﬂsdoja JRCOTIHOWS FWFTT ﬁoz’yﬁ
QUID YUIYETFI) DTORO.

Q. No. 4. Explain the term ‘Minimum Wage’. What is the procedure laid
down under Minimum Wages Act for fixation of minimum rates
of wages ? Marks : 16

“ERE PeER” TTHZY, O[O TR FET TO INORRIRS
FeomN TR HET  FTORRCPY, 03B  &,§,0300307,
SYBRRSINT ?

P.T.O.
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Q. No. 5. Explain constitution, powers and procedure of the E.S.I. Courts. Marks : 16

FOFBT DI m&ﬁa‘a@ojad T, @O0 [o8) w%ojar{%ﬁﬁa
DO

Q. No. 6. State the difference between Maternity Benefit Act, 1961 and
Employees State Insurance Act, 1948 with regard to maternity
provisions. Marks : 16

on —"De)w V0T, 1961 m@g FOEBT ooz QBN
L0, 19486 TOWNT R, zon —T@mﬁd wﬁ Qo=
ﬁmﬁ)d?\b QRO

Q. No. 7. Outline the provisions relating to the welfare measures under
the Factories Act, 1948. Marks : 16

FSDEING OO, 1948 TR %emmdoja BEoNE 3OO
emwwodmfab 23820,

Q. No. 8. Write short note on any two of the following. Marks : 16
a) Permanent total disablement
b) Lock out
c) Labourcourt.

CINPTTCR DTWS 3oL 3D 2ITAD,
Q) TOBZ ROTPEF A0IRFENT

¥) 2en BT,

R) BIFT TYCIROOD.

Q. No. 9. Solveany two of the following problems.
03RR)THTTR TR sm-—:;smfs% TOTOR.

a) Chintamani Industries, a women run organisation employing
only women workers. It allots to some women workers night
shift between 6 p.m. and 2 a.m. Is it justifiable ? Decide. Marks : 10

2WOBE PUGED ACROTD 2.0mD sFODV0Te SEIVERS
ROROIPNTT) mooeo?ojadm BN, FOR éé 2wy T RN
D03Reed mmmm &5 ~o~osaa 30 5300%30335?)33 opk)
Bedod SR @osd 6 p.m. 03 2 am. =3A fod%ﬁ
Q03R0e23BI. AT @mmmﬁ@de 2 3TN
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b) Ajay an employee in Jaideep Industries died in a fatal
accident in the factory. The employer paid the widow of
Ajay, a compensation a sum of Rs. 1 lakh directly. Is it

valid payment ? Marks : 10
BWOQET BOTWR AT WWAFT 200 THDOFTID 2,083

SHTIBTY, B2 TRETT0.  TTF 0D BROEFI), WO

BTSN BTN 2omDd ©F, TRTWCWCLR) TOTTemN DERTD.

T3 WOTT mgsojawcgpﬁe?

c) Anand, a driver with Rajasthan State Transport Corporation
was terminated on account of his eyesight problem. He
claimed retrenchment compensation. Is he entitledtoit?  Marks : 10

éséd dm BREROOT ToWAS Tt OF AOR ANSOTY,
zsae)émﬁ 3R BREET. ey @owwd 3OR Sﬁa aﬁm@
ABRYRRTRIT. om) | R TR, TOTT Bones
@&Fée 2
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lll Semester 3 Year LL.B./VIl Semester 5 Year B.A. LL.B./ B.B.A. LL.B.

Examination, December 2016
LABOUR LAW

Duration : 3 Hours Max. Marks :

Instructions: 1. Answer Q. No.9 and any five of the remaining questions.

2. Q.No.9 carries 20 marks and the remaining questions carry
16 marks each.

3. Answers should be written either in English or in Kannada
completely.

Roudnd: 1. [P0 9 I I weIRReY cnFe v FIner

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

Q. No. 5.

SVUZORD.

2. @zz S0. 9 éé 20 ©08N0 W0BY YYTHNYT S 16 LoENeD.

3. mgdr{%fﬁg{ ROTIEIF GOT} 95530 BT LRCDY, =R YVZO0,
Explain the term “Industry” under the Industrial Disputes Act, 1947. Marks
@zﬁr%eﬁ% PTG A1, 19470 RO emdesm DO
TR0, WOR0.

Qo a

Explain the provisions relating to reference of an industrial dispute. Marks
B3R eNE &mdda’% wi):b@dﬁ RORIOTITE zocsommfmq DTOD.

Define Strike and what are the provisions relating to prohibition of

strike. Marks :

FOFTHR, WARIR0 Yy INHTZ FOFI 0w,
QoD AR ?

Explain the provisions relating to registration of a Trade Union.  Marks :

TOWFT ROPT BRCOTIEIT BOWORRT E’Oodadaﬁ%fdz{ QTO.

Explain the doctrine of Notional Extension with the help of decided
cases. Marks

NFFOROW, TITLHNY IDONTRODN TORT DFTED ATOBII),

wed

NWORO.

100

116

116

16

16

:16

P.T.O.



0302/0722 2- N UAEO LA AR A

Q. No. 6. Explain the various authorities provided under the Employees State
Insurance Act, 1948. Marks : 16

B TO oo, DRP QI 1948T RO %@dg&?gﬁod
AT @@@dr{qﬁ;’% QWOR0.

Q. No. 7. Briefly explain the provisions relating to health under the
Factories Act, 1948. Marks : 16

TOFRNG  @RACE, 19480 @00, efd@en:séé ToWORIT
ao:smmf@ ROETemN QEOXD.

Q. No. 8. Write notes on any two of the following : Marks : 16
CINJYTIHTTR NTTES wrj\ 2369 29B00.
a) Standing Orders.
RO STIEBNED.
b) Maternity Benefit.
ORT APV
c) Objects of Contract Labour (Regulaton and Abolition) Act, 1970.

Modn TOFT (@oﬁao:ejsa 2028Q @Mrem) OV,
19703 md@@ﬁﬁ%ﬁa

Q. No. 9. Solve any two of the following problems : Marks : 10x2=20
03RYTIOTIR QTE SUZORD.

a) An employer dismissed the service of a workman for a
misconduct. Dismissed workman raised a dispute under the
Industrial Disputes Act, 1947 whether the dispute raised by
the workman is an industrial dispute ? Give reasons.

DROTID TOSEEIMON 22, R&J%—'%ﬁﬁ%{ DTNRIRITYT.
RPNRVAIVL, 50D BERENT 00y @QR0> 19473

Clzlevelu) &ma’dﬁi DB, FTOWFTRY AT VTR
BARENT T Snyce ? 5@69@#@5@{ QeRO.
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b)

The workers of a registered trade union declared illegal strike.
Due to illegal strike employer sustained the loss. Employer
filed a suit against the trade union for the recovery of
compensation. Will he succeed ?

SRCOTE BT ToRIFT RAOPT  FTIFITY  FToRRTOWET
TOFITT), PREJATTO. FIRRTNTIEOT WOFOD  FITEROTIN
BIROTZ 3'5@7'%36383’% PDOPAATRY. ROTOTT  RALRCREMN
RRDBID FTWFT 0P é)d)z,gp TR, BRRTR.  L53D
OBBY, BMEe ?

Municipality appointed “A” as a workman to repair clocks of
the Municipality. While repairing the clock, “A” died due to
lightening shock. Whether Municipality is liable to pay
compensation ?

RQTRLIoD r{@omdﬁ%fa’% TOTY @WRELD e Q0 '@éoaréddgt
RTRF3D JeFg [RRD. TITY BRBITN ARLD WRE
500N R0 IPTIMITE. TOTITHIY, WL
QTR0 Temned wnogciode ?

0302/0722
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0302

Third Semester of 3 Year LL.B. Examination, J anuary 2011

LABOUR LAW (Course — II)

“'Duration . 3 Hours Max. Marks : 100

Instructions : 1. Answer all questions.

Q No. 1.(a)

(b)

2. Omne essay type and one sh(nt note question or problem
from each umit have to be attempted, which is referred as
part (a) and (b) in all the units.

3. Figures to the right indicate marks.

4. Answers should be written either in English or Kannada
completely.

UNIT -1

What is ‘Industrial Dispute’ ? Explain the essential requisites
of industrial dispute. Marks: 15
FR0m Ui’ aomte? FRin S TSRV VTHOR
OR/eme
Explain the factors which were responsible for departure from
the old theory of “‘Master and Servant’
BERS w03y Ay woded ATYOIOOE ARFERED a3EEes
'“OST\&?’?&) c"»)?o‘)@»u
‘A’ was empIOyed as Mason in a company and drawing
wages of Rs. 2,500 per month. His duties involved supervisory
work of about 100 workmen. He also used to decide who should
do over time work. Is ‘A’ a workman ? Decide giving reason.  Marks : 5
' QORI 2o FomRoIY, eAURA Beabzaenc Sortert
2,500 cn. ﬂ'\:ﬁ&i) EVIRCRI VST uCﬁQ‘iL@ﬁi- TR m,mom@
8@),\;;39?1&?0]00 5 mRFFoes Fu8 m'afs:oém"i R IR
Ewy Sedd o maf&,eéo&btﬁ{b EVe 3@&“9“‘\#&&5?@ Frgeves
TNFES? B0 ANE SRRy
OR/emm

Staying away from work under common understandin gasa
protest to the introduction of a new system for marking
attendance of the workmen. Does this amount 1o strike ? Give

reason.
WFTCH THTISODRY, BeveD TRT TIFOE w;ﬁ:mjﬁm%cgg%ﬂ

ig#@od FOREIOTS ci;od QUIDE - :iwjtd AR “Ja@bgd e Fo0m
s,

P.T.(3,
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.

UNIT - 11

Q. No. 2. (a) Discuss briefly the Authorities sct up for the investigation and

Q. No. 3

(b)

(@)

settlement of “industrial disputes’.
Frw0Ty LT SR wncen Ty JeEie Ry RARCIINTIES
@@Fdﬂ?»ﬁ wry B3 s,
OR/@:SE;S’:JU

“Conditions of service etc. should not be changed by the
employer during pendency of proceeding before the authoritics
ander the Iﬂduatrtai Disputes Act”. Ex "?1‘111‘1 i.hu extent of this
Provision. o,

" QRSN Suot @BEuR { av wau(mcﬁmmuﬁ TE0FBO Hewmn wWID)

TOOTTNGR "{Jae")ﬂﬁma NOSERTEY . S euTerd DEEISRS)

Qu‘!{jf\)@

On accourit of smke by some workman in one part of the
cstablishment, management refused to give work to the
workmen in another part of the establishment. The workmen
claim lay-off compensation. Decide giving reason whether they
are entitled for compensation 7
O ERNEOS E\Twr% RSN d@f\mﬁ TRIeES> DERomd 'qa??‘fd
Slalovel o DIV foTa IO @m‘éep DOEORTRY. 3 T Ens
mdra er{awa WOTT deshznd. wSds VTR, 11000 0T rdodren
eﬁaés“ﬁ ? T30 B2 BePrDG.

OR /e

In an mdu%try there was contmuous unrest leading to strikes
and lockouts. The employer closed down the industry. Does
this amount to closure ? Give reasons.

2,003 smaéomc‘) AWoTd Revedcd SoRT W8y wensmow e
mémammém SROFD &m0 DFO0E), WOUESD. Bd mt)ﬁco‘:
moa&é;}é @mme_‘bézﬁaﬁ? f@dsa .

L

UNIT -~ 111

Explain the provisions regarding registration of trade unions
under the Trade Unions Act, 1926.
19263 S gRoPrY FOWBCNBONY Ewectirdodd zurj\ 24l e R
YUTRIOTINVE, Q308

OR/egsm

R

Marks :15

Marks ;5

Marks :15
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Discuss the liability of the employer to pay compensation under
the Workmen Compensation Act.
TS TOTO LPROLEE, 0D @Rdesd ¥ WOTT QLR LR ocin’g{
23235 0.
(b) ‘A workiman residing in a hut provided by the employer. The
hut caught fire on a night and the workman sustained severe
burn injuries consequent upen which his earning capacity was
reduced. Can he claim compensation {rom the employer 7 Give
TEASOMN, Marks : 3

&L

2o, TIOFT BROED Tl MORROTE, mﬁaaf\f;g‘gﬁu 2,000 BT

Cad, TOREIR Plod 2:352 Fo0mR vt S zb&s MONTR 903

o@E> By taﬁ’?ﬁ?u@b, eeRas wROENE D0TeU  Feghu@morse 2
OR/emzm

A bomb was placed in the premises of a workshop by some

g

strangers, exploded and injured a workman. Is the employer
liable to pav compensation 7 Decide

WOER B00RFTROE GRCHEE LHOWITY VL, WHOWS BREEDCTIN
2 TROFERTT MToCHEed ai T QeEsy  0TTE, TOTT  REEeD

?»“Dmdse 7 83T DA
YURIT - 1Y

Q. No. 4.(a) Examine the different kinds of benefits available under

Employees State lnsurance Act, 1948, Marks : 15
19480 ®Que80 Doy, LS» T00o0Ticsi@oidg, TR &g

solpemsEnyS) T02rdR0

OR/esgam
Ihscuss the provisions relating to contributions under Employees
State Insurance Act.

EDIA ! oy, 25T FCWTODRODE 30arine wﬁ DT YUEIRIOCI J:?o
2328 R0
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(b)

(. No. 5.(a)

()

4

A demand made by the Regional Provident Fund Commissioner

to the employer to contribute his share in respect of those

employees who have completed one year’s service on the

date. Is it justified ? Decide.

smedeod s;r.bﬂz-u-:a wologdh, o Omodd wod SEFd ResSod,

mhhdpzﬂ Taor g ﬁmﬂ:jma Sndesd mﬂfﬁ PRRAG j:-aﬁ&a;ﬂ;-

ool Sndeecd:; wmorbmd, ath Fgrnectsle? ara'.m-m
DR.."m#m

Write note on payment of maternity benefit to the women under

Maternity Benefit Act. ¢

o d moldobachd, shkoort o Wi Rembaoc wn

Lied wochobd,

UNIT - ¥
Explain the term ‘Minimum Wage'. What is the procedure

laid down under the Minimum Wages Act for fixation of

minimum rate of wages 7

‘S SeEn’ ooy Sdth. iR JeE od anbreedhs doomen

8RS novdabiohd anes Tcdobnl wvaldohc 9
OR/uegmm

Discuss the provisions relating to ‘Health” under the Factories
Act, 1948,

19480 mamrs mmﬁmﬂ'uﬁmq% " Horaolned SOTIIOTIWED

% T

A person employed as a Carpenter in a Soap Manufacturing
Factory for preparing boxes in which soaps are packed and
sent for sale. Is he a worker under the Factories Act ?
Decide.
LOTY MR wmRrdohd Wiy wEhobay =dd Eeirirtea,
Boantmen Sealw dm&mﬂdmhﬁg], #umm mmmdbrw‘;b m’hﬁ‘ﬁ#&
e aﬁmuﬁ iﬂ'.:hm:-a::.d M e T-::ﬂ..::‘-‘tammﬂ =T
fummod: 9 demnran.

OR/egm=

Write note on the essential features of Contract Labour
(Regulation and Abolition) Act, 1970,

1970 ¢ smay ®oors (Podogre =b3y oCid) wctociod wsizd
wErany 't.-..ﬂ rizied Lodiolod.

R IETR

Marks: 5

Marks : 15

Marks: s
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Third Semester Three Year LL.B. Examination, January 2012
LABOUR LAW (Course-1l)

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer all questions.
2. One essay type and one short note question or problem from
each Unit have to be attempted, which is referred as Part (a) &
(b) in all Units.
3. Answers should be written either in English or Kannada
completely.
4. Figures to the right indicate marks.

UNIT -1
Q. No. 1. (a) Explain the provisions of the Industrial Disputes Act, 1947
relating to award. Marks : 15

DSERFT FOWORRT WERENT QTTNY @HICPRY 1947 TYTOH
SOTIOGNTR DFORO.

OR/&5m

Explain ‘Industrial Dispute’. When does an individual dispute
become an Industrial Dispute ?

‘@dr%ef\% QT * RO, OINTON WOTID %Qﬁ&é% QTR @cﬁr%eﬂ%
DTITITNZT ?

(b) Write note on: Marks : 5
£33 2380000

Settlement
Q%@R

OR/e5se

Workman.

TOEB,
P.T.O.
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UNIT =1l
Q. No. 2. (a) Explain the provisions for recovery of money due to workman
from the employer under I.D. Act 1947. Marks : 15
W3R, eNE QETNY LHRCDERD 1947 To QSR ERFIOT T BN wdééé
T DRRON BOWOPIT wawocjmﬁ@t NWOR0.
OR/&5se

Termination of service of workman by the employer for any reason
what soever amounts to retrenchment. Explain with the help of
decided cases.

BROETRD 03RR)TE FITLINOT ToF IS ﬂedoﬁoﬁg{ ©20STONRTRONT
SBRETD BRBINFOINRNIZT, @owd@t SRR QB TFTLNERL O QTOR.

(b) Write short notes on: Marks : 5

£33 2380000 :
Lay-off.

emdr%eri 2OQ.

OR/&5s

Closure.
mw%@-a

UNIT -1l

Q. No. 3. (a) Explain the provisions of Trade Union Act 1926 relating to
registration of Trade Union. Marks : 15

T B RO L0 1926 T ToF T RTINS BP0 ROWORIT
PTBWOGNTR 2308

OR/&5se

What is the procedure for realisation of compensation under the
Workmen’s Compensation Act 1923 ? Explain.

TRFT TR, TOTT LHACLERD 1923 TRODE FH BOTT HHEOD
SRORORLIETT T 3030 D0 ? QBORO.



(b)

Q. No. 4. (a)

(b)

The registrar of Trade Union withdraw a certificate on the ground
that it was obtained by fraud. The trade union challenged the order
of registrar. Advice.

SROTRTORFTIOOIN FToF S & ofy@ QBT BTN @ 35& RBREROT
DR adsaa N éood@ TREERORI, @d@%ﬁd& @ébar% #ow@ wéwéd
- 203 @G@@

OR/&5s

‘A’ is employed as a driver in KSRTC. While driving he met with an
accident and he lost vision of the left eye. Is he entitle to claim
compensation ? Decide with reason.

BT 638 003, MON A oﬂojaeﬁ @ QOLVTRR LIDOBINN FOR Va3 2oRIET)

@wmsmeﬁm 35 @6571955 é&oﬁao‘m éﬁmm%@ﬁ ~553 DTS

BB @&frée 2 et éeﬁmrm
UNIT -1V

Examine the different kinds of benefits available under Employee’s
State Insurance Act, 1948.

1948 S5 30 Tozg, 39 ToOTOROIY TERTOIE QT3 CoRNER)
T0&COD.

OR/e5se
How to determine the contribution towards provident fund ? Explain
the mechanism to recover dues from the employer.

BPOFT QR FoF GO wit Tert ? 203ReIZR0T ForzodERN
BN W% WRPECREMON VTS 30@5@ QORD.

Write short note :

£33 2980000 :
Object and scope of the Maternity Benefit Act 1961.

esterat @@2% Q03w 1961 T e,ruc:(ﬁ;eé =02 R
OR/&5m

Scope of the Employee’s Provident Funds and Miscellaneous
Provisions Act, 1952.

S9TT3 PRRT® AR 308 O, YUBOGNY HR0R1952 Tem
B0 &3¢ LTAD.

0302

Marks : 5

Marks : 15

Marks : 5
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UNIT -V

Q. No. 5. (a) Explain the provisions relating to “Safety” in the Factories Act 1948. Marks : 15

(b)

FATOFING LIOV03030 1948 T0B Q30 NG ‘ﬁxﬁgé’ o mmoqsmf:%
S30R0.

OR/&5se

What is minimum wages ? How it shall be fixed ? Explain.
TR BT 0TI 7 LR TN ANOTERRLBITO 7 D[ORO.

Write short note on :

wdws’é 203000 :

Essential features of Contract Labour (Regulation & Abolition)
Act, 1970.

FOR00 BETT ( Q030869 208 dcgs%) 2Q0HT1970 T mg% @i; N0,

OR/e5se

Canteens & Creches under Factories Act, 1948.

SUTEIT TN O 235, BB TWOUTD ERTRNED ToaTF SN RN
1948 SaoDHE),

Marks : 5
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Third Semester Three Year LL.B. Examination, June 2011

LABOUR LAW (Course—11)

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answer all Questions.

Q. No. 1.(3)

(b)

Q. No. 2.(3)

2. One essay type and one short note question or problem

from each unit have to be attempted, which is referred as

part (a) and (b) in all the units.

Figuresto theright indicate marks.

. Answers should be written either in English or Kannada
completely.

& w

UNIT —1

Outline the impact of industrial jurisprudence on labour
welfare legidlations. Marks : 15

Ja08 RoDe ToRINY e ’?Edegebo# 9, 00TDR TPRBD, WGR0.
< L
OR/esg3z30

“The questions is to whether the industry is carried on by or

under the authority of Central Government is essentially a

question of fact depending on the circumstances of each case”.

Justify. Marks : 15
“gmow A oﬁojoﬁo FOT, ATOF 0T WORVT LT @@w'aamﬁ
?nadéNemmédoﬁae @&Swéﬁ WNZEN TOFRE TJOSRN T8¢ w%dsazﬁ

Nadeér{%ﬁm @d@oa‘%d&ﬁdg Nﬁ&@&-—,«)@

Write note on labour problems. Marks: 5
Bew83 BRI it 83503 2030

OR/esg3z30
Distinguish between award and settlement. Marks: 5

DERWF WY TEFF [RON [TYA0.
UNIT —11

Define ‘ retrenchment’ . When the retrenchment shall betreated

asvaid ? What areits effects ? Marks: 15
“emcﬁr%eri QBRATANE ROLPAD. 0Tven emcﬁraeseﬁ &Jéﬁ@@:b@%od)d%

QT SYOPRMIRT ? STT TOFITONTERD ?

OR/ &5z
P.T.O.
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(b)

Q.No. 3 (@

(b)

Q. No. 4.(a)

2- AR A

Explain the role of arbitration in resolving industrial dispute. Marks: 15
TOT QRT BOBORIRY, BOGRMOFOI mgd:% QWORD.

Write note on notice of change. Marks: 5
LTRBEOD E9TVF B0BD £33 WTAD.

OR/es53z30
Write note on domestic inquircy. Marks: 5

30808 NIVTH B0 wﬁwsé 280200.
UNIT =111

Discuss the provisions relating to recognition of trade union. Marks: 15
Rng RoPT =RIE 30003 ma’woc;’ﬁ%ﬁdg{ 323 0.

OR/es53z30
Explainin detail the provisions relating to employees liability
for compensation. Marks : 15
SR, PEFTON VOIRERTT WRGEIN FOLORRT LUTWOGNTR
2R BRRR0.
Write note on General fund of the trade union. Marks: 5
R ROPT WINT, G B0 LT 2T

OR/esg3z30
Write note on occupational disease. Marks: 5
RS TREN B0 &5Tes LITOWO.

UNIT -1V

How to determine the contribution towards provident fund ?

Is there any mechanism to recover dues from the employer ?

Explain. Marks : 15
PR PN [o8F AGFORE Wit Fert ? 03REIR0T FoTToIEN

23e5NTOR 20E WRAIEMON CIRRYTITTR FoZT03e 7 QBORD.

OR/esg3z30

State the procedure of employees insurance claims under the

Employees State Insurance Act, 1948. Marks: 15
S980C Oo%y Qe HRCDE, 1948 ok S¥800 mn Femoond

T DI, E9R0.



AR A
(b)

Q. No. 5.(a)

(b)

-3- 0302
Write note on the powers of inspector under the Maternity
Benefit Act, 1961. Marks: 5

Ton N;‘D@Z;ES 00, 1961 & a’@&eéjcﬁ QTN 3OO @3&&5@
23BO00.

OR/ &5z
Write note on protection against attachment under the

Employees Provident Fund and Miscellaneous provisions
Act, 1952. Marks : 5

00 AT D Ty WO,D> RVFETERNG ©HAODD,
1952 S5 gy QT3 T9R B0 48 25000,

UNIT -V

What is minimum wages ? How it shall be fixed ? Who can
determineit ? Marks : 15

TR WOWRO 0TI 7 LTI, Tt ANOTERRIEE 9 TR, cARTd
QT ORORTO?

OR/es53z30
Out line the provisions relating to the welfare measures under
the Factories Act 1948. Marks : 15
TARFING  L@RITY, 1948 o& %@d@;ﬁaddoso BRWONG BOOBD
mwwocjﬁeﬁ@t 238R0.
Write note on prohibition of employment of contract |abour
under the Contract Labour (Regulation and Aboalition) Act 1970. Marks: 5
30T FAWBT (DO, 308 Trg) wQRCDHE, 19703 rxert 3083
RodpesEoD er 30D LD WSO

OR/esg3z30
Define “wages’ under the Minimum Wages Act 1948. Marks: 5
TR FOWRO WHACDERD, 1948 S& “R0eednisy” BogRard.
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Third Semester 3 Yr. LL.B./VIl Semester 5 Yr. B.A./B.B.A.LL.B. Degree

Examination, June 2013
LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answerallquestions.

Q. No. 1.(a)

2. One essay type and one short note question or problem
from each unit have to be attempted.

3. Figures to the right indicate marks.

4. Answers should be written either in English or Kannada
completely.

UNIT -1

Explain the term ‘workman’. Distinguish workman from
independent contractor. Marks : 15

"FIFT TRV, 0L, FOFEIRD, B Z0Y, MOGNweSR0T

OR/es53s5
Discuss briefly the impact of industrial revolution of India
upon workmen.
TONOFTT e YRTBE G0t 53,0808 ms—@-@mws%
#o%ﬂmﬁ WA
Dispute relating to dismissal of workman — Does it amount
to industrial dispute ? Decide giving reason. Marks : 5
2.0)) TOROFBIT) P BRENRYTOOT YVOERNIE T~ B0
3MO0T DTOTRE ? TTD BB SeRPEIR.

OR/esgss
Workers of a company wanted to celebrate ‘Ayudha Pooja’ one day
earlier to the festival. They requested the company to declare holiday on
that day and they were ready to compensate the loss of work by
working on another holiday. But the management refused to declare
holiday. Workers enbloc applied for casual leave. Does this amount to
strike ? Give reason.

P.T.O.
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Q. No. 2.(a)

Q. No. 3.(a)

2 0 O R

WOTD BOTICH BORMOTTY ‘303205 TR’ odadao{ WO O
RRTS 523070 &5 O TLONHOT TPREARLICFOTD, &8 AIT
3O da&ﬁdg ngoﬁo ‘TE0H QAT WeF mRRIRTBOD
B0 OTOR)TINCIR FePBROBTY. BWT BB :I0TLOIN TN
Ted Fuoeamed QTITORR. &R FURMTTO Lomd Lt TS
TR 903 TOBTT. BT a’m—-’%ﬁ;d SRR ? TTERR.

UNIT -1l

What is lay-off ? Explain the circumstances in which the
laid-off workmen are not entitled lay-off compensation.

SUTRENLIOE 0BT 9 03N FoTPFNYY, GuTsR ereood
FTOIEBTD, emdr%ermo@ mjmddﬁg{ TEODLD BT
@omdd& DO

OR/e5s?

What is unfair labour practice ? Explain various unfair labour
practices on the part of the employer.

IR0 TOIFT B30T D0BTERY ? BRODBI RDSCI0T
ST NG SROUWE TFT SWBOBNATR)_ Q=03

The services of a workman is terminated due to loss of
confidence by the employer— Does it amount to retrenchment ?
Decide giving reason.

S0wE BSTRBROT @@3?%@:’% TROEBI FORDOT T2 BIRBEINT
- QT B3R mmaémmgcﬁo&e? FOTD RS SCTIE .

OR/esgss

Write note on ‘recovery of money due from an employer’.
TROT0T FQLITNTD Ted SRRAOD i 5T 23T

UNIT -1l

Define ‘Trade Union’. Examine the extent of immunities

available to registered trade union from civil and criminal

liabilities.

‘TOROFFROP TR, TOWFT BOPFE AV 3By §ATS

mcgséosood eng TRTO30R meséjow@ waez}fo.
OR/e&53e5

Marks : 15

Marks : 5

Marks : 15
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Q. No. 4. (a)

What is personal injury ? When is the employer not liable to
pay compensation for personal injuries by accident under
Workmen’s Compensation Act ? Discuss.

00088 3 DOWTER 9 FHAFTT WOTT LHROXROT, 0D
03T ROTPENT BROBR LRFTSLOTI0LINT dgjojaéﬁ
TN WEINTIY_? LWFR.

The workman died due to natural lightning while working at
the site —Is the employer liable to pay compensation ? Decide
giving reason.

BB 302 %ériggdé’gﬁ @d@mﬁ@bﬁ %#ﬁr% 2BOT BRT3T
5%35@353. TSRO TOTOT BRTED BRFBMOTIC ? T2TD 5
SCRIE .

OR/egw

Injury sustained by a workman in the factory while taking his
mid-day meal during the internal period — Is it an injury
connected with the employment ? Give reason.

dsqﬁagosd I lepiveint REPONG TTOF HONY_ e mmgdomﬁ
TIFTAN  TONOTVOLTIONBY - AT emcir%en’% RORIOTITE,
TV P T BRG.

UNIT -1V

Explain the provisions relating to adjudication of disputes

0302/0722

Marks : 5

and claims under the Employees State Insurance Act, 1948. Marks : 15

1948 T 5033 oo, 2R FIOWTCRODE TN
99,030€9E 0 WY FERONYT FOWORAT wwwoz‘ﬁr{eﬁ@i
QO

OR/esgss
Define contribution, examine the law relating to contribution

by the employer and employees under the Provident Fund
Act, 1952.

B2 TR 1952 3 BARI PCRTODRODY, RPAeFT
TONR FOFBOOT 308103 wrﬁ_\ elowrn Eam&d}% Z08eDR.
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(b) Write note on ‘Medical Benefit Council’ under Employees
State Insurance Act. Marks : 5

TORFBT Tz IR WHACDTRODYT ‘3 secd Todpews
TVORIS” o} 83 B0,
OR/&5es
Examine the features of Maternity Benefit Act, 1961.
19613, Tort I8, TR @isamf;’% T0dCAR.

UNIT-V

Q. No. 5.(a) Briefly explain the various provisions relating to safety
measures under the Factories Act. Marks : 15

TIE0IF NG WRICROTE 7336@‘@’7? #owo;ﬁw@é wwwo;ﬁn’%ﬁ@%
TO3TmN DTOR.
W=>
OR/e5s?

What is the object of Minimum Wages Act ? Explain the
provision relating to hours of normal working day under the
Act.

%@a’% 2333 TN wd@eéﬁdem? ARRT, BORT OFT ey
27, TOTICDRODY, Foloin] mwwoqs’d@{ QO

(b) A person employed to clean machinery in a factory —Is he
worker ? Decide with reasons. Marks : 5

ojaogr{%fs% :éz:éﬁfa%w JeROTNTOR 523_% BORAMOTIC ? T2TED
T2 SN
OR/e5s?

Examine the object and scope of Contract Labour (Regulation and
Abolition) Act, 1970.

1970 T 30030 T T (E’Ooﬁaogsa ﬁaé_’; dcgs%) FCTIOI emz%eé
533_’; mﬁoﬁo@{ OO
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Third Semester Three Year LL.B. Examination, June/July 2012
LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions : 1. Answerall questions.

2. One essay type and one short note question or problem from
each Unit have to be attempted, which is referred as Part(a)
and (b) in all the units.

3. Figures to the right indicate marks.
4. Answer should be written either in English or Kannada
completely.

UNIT -1

Q. No.1.(a) Explain the definition of “Appropriate Government” under
Industrial Disputes Act, 1947 with reference to decided cases. Marks : 15

@dr%eﬁé 2RT BRI 1947C0 ©RODY WIKH “RRT
X353 T mesgje’soja@{ QEEOT TFTLNTR0ON ISORO.

OR/e&5w9
What are the principles underlying labour legislations ?
TORFBON ROLOGITES, moﬁgﬁﬁﬁ@i 0393 3%71%3 BRODY. RINNT 2

(b) Majority of workmen applied for casual leave, employer
rejected the leave and treated as absence of workmen as
illegal strike. Decide. Marks : 5
2T FOSTYE Fo0F BT 3TORY Tedron wede YT, BROEF
&R, GNCj?D dDéD ¢330 ﬁd& @%605353 fe)d@ﬁ) 230&0 me\%d
@oc:b m@mmé @drm@

OR/egw

Workmen immediately after reporting to duties against the will
of the employer leave the place of employment to attend the
funeral ceremony of a past employee. Employer treats the act
of the workmen as illegal strike. Decide.

BT FOR %mumcﬁ 359@ RROEBT R0 ébdadmﬁ 300
RROMOIM @oé No—%dd@ LPNRLACD FORT N%ﬁc‘bod BRTeD
BREMOTIT. dm@eézﬁa FOETT 6303353 ammmood m@%d

QOTD ds@wmd EIE OO,
P.T.O.
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Q. No.2.(a) Discuss the procedure to be followed by the employer to make

2-
UNIT -1I

any change in the conditions of service of any workman under
Sec.9(A) of 1.D. Act, 1947.

BWSRENT ©RICPR 19473 800 9-AT BRODY SR
DI TONND 563_’.}71%3:% WTERRTH RRELICTITN TORLCTT
@goﬁamfs& 23236 0.

OR/e@wme

Explain the provisions relating to closere of an undertaking
under Industrial Disputes Act, 1947.

@d@seﬂé BRACHT19473 HFo0 Slass ‘dmﬁgﬁ@%’ﬁ #owocﬁ@%
QODTONTRO, IT[ORD.

‘Shankar’ a workman who is laid-off by his employer at
‘Hasan’ refuses to accept an alternative employment in
another establishment belonging to the same employer
situated in Bangalore. ‘Shankar’ desires to claim lay-off
compensation. Decide.

“Z033 " 202 @mréd@wﬁa :a"g BROBS TARSTYTOS
BT BOW0T emdgm 0T° drx&g)@id% , 3036 BRI
WoMPROZYTON BROTD YVRE0NY | LTNRS emzﬁf%eﬁdsg{
R, CBOR0 DTIFORTRE. TORFT ‘JOFTRY GUTE 20H0D
TOTT TBODO aag?aﬁda. QFFOD.

OR/e5wme

Akshata and Co. is a public utility service industry, where a
strike has commenced during the pendency of conciliation
proceedings and the workmen, plead that the strike was
provoked by Employer. Decide.

©TZO B FOTIOIN LWOTD AT WIF LVTOE Ao Y0,
BN BFT mgzse@ TOGOTTITT  eNFOTH aoédgmaﬁ BN BTO
ma’%d T39,00RATT 208 dw%zﬁ@ méeéd(@zﬁfaedémod)
739,000 00080 0T FARIFFR) TOROTT. SeRIF R

Marks : 15

Marks : 5



Q. No.3.(a)

Q. No.4.(a)

-3-
UNIT -1l

Explain the provisions of Trade Union Act relating to the
immunities available to a Registered Trade Union.

0302

Marks : 15

FIWF IO AOT LIRIOTOT Sofevy JRCOTIOWET B BT #owﬁé QT

em:%g;mf:p;{ QTO0.
OR/&5wme

Discuss the powers and functions of the commissioner under
the Workmen Compensation Act, 1923.

TIWFE FOTT R0 19238 RO BQOERNT TR0 94580

TN %Dodormfabq 3ER0.

A Trade Union member who was poor but very popular and
who has not contributed to political fund requests the help from
general fund for his election. Trade Union refuses to help
from general fund for his election .Decide.
WES STT, WILODTWE FoFT FoPT FTHIRWII Totsseod
RN 301 éracggr?oja:p;{ BB mmgj Alalovblein] 302 WWTORTHN
ATHOD LWODRIBYE. FOROFF AOFY TT0D BWRTEL ATIFORIZE,
QPFORD.

OR/&5es0
A workmen while performing the duty of the employer died due
to an accident. Then it had been proved that at the time of the
accident the workman was under the influence of intoxication.
Whether the employer is liable to pay compensation ?

22, FORRTR BROGBT FFR[Y, ARF &AM WIS
TTER0T AP TROTITYS. F0IT 95798 BOPRIT FoTLF T
BORTTR ST T 0OTY DT HOWOTD AT, SROETTO
TWOTOT BRTED mcé@éﬁe‘?

UNIT -1V

Discuss the constitution, powers and functions of Employees
Insurance courts under ESI Act, 1948.

19483 5033 0%, DT FoOWT BRODEY DAL AN
D9, 03ROONNY TS, WHTT ToNH emojarmﬁ:% 32030 2R3IFRO.
OR/e8=»

Marks : 5

Marks : 15
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Q. No.5. (a)

(b)

4 TR 0

What are the powers and duties of Inspectors under the
EPF Act, 1952 ?

RFIS HART 2 ol 19523 ©REHADH T HTIRG
pmO W TR CIRFT 2

Write a note on “Employment of woman during certain
period under Maternity Benefit Act, 1961. Marks : 5

eetolal @@&jas BRACH 19618 wRODY 3oy RoTPFNTY
F08POD FHeF B0 LTES 2TOWO.
OR/e&5we
Write note on ESI Corporation.
TOFT Tgg, VBT AN
UNIT-V

What is Minimum wage ? What are its components ? Marks : 15

ézmo BB DOTTER) ? 9TIT RO TPEIFIOBNLD CINR)R) ?
OR/e8we

Discuss the provisions relating to employment of young persons
under The Factories Act, 1948.

TS0ERNY R, 19480 ©RCHY STCHT dgﬁ@dg{ 303
BRBEIN LOOR0RITT @oﬁamﬁ%ﬁg{ 2323 20.

Write a note on ‘Licensing of Contractors” under the Contract
Labour (Regulation and Ablition) Act, 1970. Marks : 5

jepieV) go‘méd(@ojaogsa 202 ddcs%) B0 19700 RODA,
“wgpdmdd ejﬁa: i verce) wag;é WT3O0.

OR/&50
Factory

FOAES
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Third Semester, 3 Yrs. LL.B. / VIl Semester, 5 Yrs. B.A. LL.B./ B.B.A. LL.B.

Duration : 3 Hours

Examination, June/July 2014
LABOUR LAW

Max. Marks : 100

Instructions: 1. Answerall 5Questions with one essay and one short note/

Q. No. 1.(a)

problem from each Unit.

2. Answers should be written either in English or in Kannada

completely.
UNIT -1

Discuss the importance of industrial disputes legislation and
a brief note on its history of Industrial disputes legislations in
India.

BERNT ITNG TIRIT [TIE #08) {RT8HY, BAR, NS
QTN TBRINY Bo3F 0ITORRI), WeSF RO,

OR/egw

Define ‘award’. Explain the law relating to commencement
and enforceability of an award.

‘DR T TN, WOTO DERFT TTORT  F8Y
P ORRERIDIOD TN PRAFI), VF0R.

In Rathan Steel Industrial Unit all the 15 employees for the
purpose of pressing their demands for additional allowance
do not take the free food served in the canteen and decided
to fast unto death without abstaining from work. Is their act
unlawful ? Decide.

035 QU8 Fos00F B0RNY T 20T WPNG R, 15 59005300
23 ézﬁ%ga g, eIerdod 3oedd wBr® BAE BN WS

6'aasowea“"‘a’® QeBOST T STIOIIO TN 0ROV T.

fae) o Q S 3 -
DOTVOTIONL VTR z)’@%(\j&’ DOTIO o_'j%%o@dd@,
ﬁssbrﬁojoqﬁwq’i &Dumﬁ@;do. FOWIETT WS E IO
FOBRDNLIELTC ? AT O

OR/egw

Marks : 15

Marks : 5

P.T.O.
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Q. No. 2.(a)

2- N EAEA LA AR

Write a note on :
wegsé 23000 :

Individual Dispute Vs Industrial Dispute.
FOIFT T Vs BIRENT 0T,

UNIT -1I

Describe how Labour Court, Industrial Tribunal and National
Tribunal adjudicate the industrial dispute referred to by the
government.

FOIET o) O3RN0, ud@ ens m%;owa@cm asoao ooy, 030

m:)fa eNgT a'azgomwojo@ fek.pletn) emefe@i)fm uma N
@mcﬁﬁ%ﬁa’o Bert DeoF OWRNZT OWITR) DROR.

OR/e5s?

Explain the procedure for Lay-off and retrenchment. State the
provisions regarding compensation in case of lay-off and
retrenchment.

Wd@@ﬁ 2000 WY TPRRTONER FowWRART @mﬁﬁ@ﬁm
@dm emdraer\ 2000 BB TPBRBERECDYT wbmdﬁ
NO&)O@N@ Wwwozﬁﬁeﬁm &“mam@

Workers and management of Ravi Enterprises could not arrive
at a settlement regarding their bonus issue for the year 2012-13.
They prefer to go to Labour Court inorder to solve their
differences of opinion. Are they justified in their dispute ?
Decide.

TR 0w emddo ~o~ojo TIRFTTD BB BEYS WOOTP T
2012-133 —ae‘)s ST QRO Nowoc‘bfodoé O3RRYTIC 20T
VTHF S, WOTe QUITT. B WIVWETCIETI)_ VEIORT AN
fawdra aébor% 3, 0IRO0IT 3@6 ﬁraerbofg)mﬁ QT OTIT.
=t &mcﬁdé %zwéra B0 wc;’bmﬁdadde 2 AT OR.

OR/egss
Write a note on :
e3Te8 B0 :
Unfair Labour Practices.
IO TR D wz,é%

Marks: 15

Marks : 5
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Q. No. 3.(a)

Q. No. 4. (a)

UNIT -1

Trade Union enjoy immunities under civil and criminal
law — Discuss.
THROF T HOPLHOIN QTR ) WE0IG FISRSINGS, 8
ﬁ@dg{ TROOTET. — WA

OR/egss
‘Accident arising out of employment is deemed to have
occurred in the course of employment’. — Discuss with
reference to decided cases.
‘FOTROT YVORRT BIPTR) FOVT P00 FowoRAT
UTPOTHOTIRBERYIBT” AGF OB TFTNTROOT 3WF R

Jayaram, an employee in Jaideep Industries died in a fatal
fire accident. The employer, through their Manager paid to
the widow of Jayaram a compensation of Rs. 1 Lakh directly.
Is it a valid payment ? Decide

BT VDD FOROD TOBCINT WONTIRT OWRTY ETO

@

508 BTFIRY, FVERECITT. RROETH Iy TETHD
R0 Bnemesd ROHRROT NS gER BEd

ﬁﬁw T[OTOT BEdON BR. 26003 @iﬁ;’p}t égsa QezoZT. B3
ROTROIR) WQUTERE ? AGFOR.
OR/e5s?

Write note on :
we,-’gé QB0 ;

Collective Bargaining.
RRORKT BT
UNIT -1V

Explain the types of benefit provided under Employees’ State
Insurance Act, 1948 and state the conditions to be fulfilled
to avail them.

TRFTT Toty DWW 1948398 QG RROFNIR)
DWORD WBY B4 @@@;n’@’ﬁg{ TRODON QTIT NG
ROZQNTR 920,

OR/e5s?

0302/0722

Marks : 15

Marks : 5

Marks : 15
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Discuss the salient features of the various schemes
formulated under the Employees Provident Fund Act, 1952.

BB &3&33%2’3@ 3303% , 195209 e¥RRAT NG C3RewEny
@dm@) @ﬁf@ﬁ%ﬁg{ 3 20.

(b) Write note on: Marks : 5
8363 2IB0000

Obijectives of Maternity Benefit Act, 1961 and its application.
on 438 w0, 19610 emcgeémfo =02y &, 000R0N3.

OR/egss0
Employees State Insurance Court.
TOFTO Ty R T0IROO.

UNIT -V
Q. No. 5.(a) Explain the measures prescribed under the Minimum Wages
Act, 1948 for implementation of the provisions of the Act.
Marks : 15
éﬁmw D@ w03, 19480900 emwwoqﬁr{%ﬁsg{ PR RRORD
20N aoﬁ&oﬁo@ﬁdm NN emwgmﬁeﬁs% QWOR..
OR/eg3e50

Discuss in brief the health and welfare measures adopted
under the Factories Act, 1948.

TSoOFING B0, 19488 FsT ejziraenag do@o 5@7@ sa%
ROLOQRTOS eﬁ%fgafomd Wwwodﬁ%ﬁm No%wmﬂ z%z%m

(b) Write note on: Marks : 5
8363 2930000 :

Procedure for registration of establishments under the
ContractLabour (Regulation and Abolition) Act, 1970.

F000 aé)o%d @ojooasa DO TH8) T3 19700’@
SRR0%35 20085 5@355 Be08 TnasRDHB RoAte Sreosed
QTR

OR/e5e5
Manufacturing process.

em@wdm plevel




Il Semester Three Year LL.B./VIl Semester Five Years B.A., LL.B./

Duration : 3 Hours

Instructions: 1.

B.B.A., LL.B. Examination, June/July 2015
LABOUR LAW

Answer Q. No.9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions

carry 16 marks each.

3. Answers should be written either in English or Kannada

completely.

Rowdnd: 1. TF9 @ DD WeDITY HER g
2. 59 § 20 eosid B eveTTen Fev 16 ol

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

=2

3. IV Foigheor e QONCTIDS) e S VGOTI R

What are the principles underlying labour legislations ? Explain. Marks :

TOF BT FIORNER TOWORRT YVTIOTIFERD 7 F[ORO.

Explain the provisions relating to closure of an undertaking under
Industrial Disputes Act, 1947.

BRRNT WQICNT, 1947 T Tzo0 wviEd “@=o0ed0d ' n
#owocﬁﬁé& @ododoﬁe}si QWORD.

Discuss the powers and functions of the Commissioner under
the Workmen Compensation Act, 1923. (Employee's
Compensation Act).

TUWFT TOTT R0, 1923 T ©RCDY 303080 @HE0
TONR aoﬁarﬁ%& W3 R0.

What are the powers and duties of Inspectors under the
Employee's Provident Fund and Miscellaneous Provisions
Act 1952.

TFET PAF, AR 5903 1952 T ©wRe1Y A0EFFC WQFTITRTO
=08y IR IR ?

Marks :

Marks :

Marks :

0302/0722

Max. Marks : 100

16

16

16

16

P.T.O.
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Q. No. 5.

Q. No. 6.

Q. No. 7.

Q. No. 8.

Q. No. 9.

2- N EAEA LA AR

What is minimum wage ? What are its components ? Explain. Marks : 16

émo TSI DOTTEZ) 7 BT RO TFEIFOIND CIRR)W) ?
DROR.

Outline the provisions relating to the welfare scheme/measures
under the Factories Act, 1948. Marks : 16

TOOF MY LRI, 1948 T& FERTOD THNG 0L
QTR mﬁwocjmf@{ TO0.

Discuss briefly the Authorities set up for the investigation and
settlement of industrial disputes. Marks : 16

%m@@ @mdﬁ%& 335 [RTLO B eRIPF IR %&ﬁmﬂ&ﬁ
T3, QB0NY wrj\ 233 A

Write short note on any two of the following : Marks : 16
(a) Settlement

(b) Retrenchment

(c) Contract labour (Regulation and Abolition) Act, 1970.

CINR)TTCR RTRT B0 OFO £33 B0 :

(2) g3

(¥) BRER QBREVRDE

(%) BTRTL BROTT (AONCZED #BY TTE) LHACR 1970.

Solve any two of the following problems :

(a) Workmen immediately after reporting to duties against the
will of the employer leave the place of employment to attend
the funeral ceremony of a former employee. Employer treats
the act of the workmen as illegal strike. Decide. Marks : 10

FIEWF BT éemé TOWOIT @’ésa O30 gl ébdadmﬁ 3003
@%dd@wﬁ eﬁoé NO_e)dd@ mﬁd%oxw %md Neﬁaocﬁ BRTED
RRerdIYT, wacf)eédo @ébaréd amm am&mood Saao,%d
QOT wan’eéma_od’ QEE 00D,
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(b) A workman while performing the duty of the employer died

(c)

due to an accident. It was proved that at the time of accident
the workman was under the influence of intoxication. Whether
the employer is liable to pay compensation ?

28, 3ORMTR [RIET B dﬁa QT QRTINS TFBT
adsa@ocs’ QBT BROTITYS. @wmé ROINRT RoTF T,
BORMOTID mdd @53@5@3 facs’ Q02T —am@r{aéd
PRI wbmd BTN wocj%ﬁe ?

In an industry there was continuous unrest leading to strikes
and lockouts. The Employer closed down the industry. Does
this amount to closure ? Give reasons.

20T FMROECIY, ATOZT CRDRGOTDY m—-u,%d =02

RENDOBROT  TRORNREATIERY. [ROTID  FMOFOIR),

mzido‘n. el ) GaDeLieve mzégdébﬁ @mé@@ﬁggcﬂoﬁoe 9 30
BR&.

0302/0722

Marks : 10

Marks : 10
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Il Semester 3 Year LL.B./VIl Semester 5 Year B.A. LL.B./B.B.A. LL.B.

Duration : 3 Hours

Instructions: 1.

Examination, June/July 2016
LABOUR LAW

Max. Marks : 100

Answer Q. No.9 and any five of the remaining questions.

2. Q. No. 9 carries 20 marks and the remaining questions

carry 16 marks each.

3. Answer should be written either in English or in Kannada

completely.
AR 1. g’g 0. 9@( D) GVSTINTY) AV 2080 @’g”/ﬁ@?ﬁ VIO,
2. JZ 709 & 20 @00 DB VSEINT Few 16 eose,
3. w_;’o’/fgf@ FOTIPLOE ol D e eRkderel) Rg  VZO0.
Q. No. 1. Define industrial dispute under the Industrial Dispute Act, 1947

Q. No. 2.

Q. No. 3.

and when an individual dispute will become Industrial Dispute ?

BARENT DTNY QIR 19477 ©R0DY BIR, NS
@mdddg{ TATYIN0 WY 03N %oda_{s% QTOTR) @cira?jeﬂ%
ST BNOTT ?

Explain the provisions relating to voluntary arbitration under the
Industrial Disputes Act 1947.

BAReNs QeoTny QR0 19478 R0 9ol Beesor
ROR00GERe3, DODONTRY, QTORD.

Define lay-off and what are the provisions relating to lay-off
compensation ?

NOTE30 wo@oﬁaﬁi TSR0 FWOBY  NVTED LOR aﬁ@md@
#owoqﬁw% QODFN R ?

Marks : 16

Marks : 16

Marks : 16

P.T.O.
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Q. No. 4.

Q. No. 5.

Q. No. 6.

Q. No. 7.

Q. No. 8.

Briefly explain the various privileges of a registered Trade Union. Marks : 16

JROTIED 3T TRFB ROPT DG sw@@mfsi #oégmﬂ QTOD.

When an employer is liable to pay compensation under the
Employees Compensation Act 1923 ? Marks : 16

TIQOF B0 TWOTT Q0T 19233 2R03DY, @ROEBSD 3TN
TOTOTHR), EBLD BRTMOTTNOTS ?

Explain the various benefits provided under the Employees State
Insurance Act 1948. Marks : 16

FICWETO oo, NRP BRI 19488 @R Mdg%&d

DT TFIONY @mgsﬁe}dl QTOR0.

Briefly explain the provisions relating to safety under the Factories

Act 1948. Marks : 16

TOFING WHAT 19480 &R mo’g’?ﬁ TOWORIT
ao:smmf@ #o%w@’mﬁ QDWORO.

Write notes onany two of the following : Marks : 8x2=16
OINYTRTIR NTTET Ny 8303 2TBOWD
a) Certifying officer.

G REB0D BRF0.

b) Procedure for fixation of minimum wages.
5833-’35 REBIT ANQCL T3 o

c) Central Advisory Board and State Advisory Board under to
Contract Labour (Regulation and Abolition) Act 1970.

ST Fo0F S (CIOZED ST ARFOT?) WHACIER 19703
BRODYS Feot, FOT WIORY B oo, FOTD TOTL.
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Q. No. 9. Solve any two of the following problems :

03NYTTIR QTS SUZOY :

a)

b)

Employer dismissed the service of temporary workman “A”.
“A” raised a dispute under the Industrial Disputes Act 1947.
Employer argued that “A” was not a workman. Decide.
SROB “t” 0w BTITYEE T0F S RSO FRNRRVATI.
BAERENE DmTNe QAR 19473 2R0DY “e’m 2,080
DPTIZ), DTS @R BFTIY, 2080 BROFIO
ORI, AT,

Membership of a registered Trade Union has been denied to
“A” a workman on the ground that “A” has not contributed to
the political fund of the Trade Union. “A” wants to challenge
the legality of the denial. Will he succeed ?

BT ROTPT T3COD QN woéﬁodaa’g{ QeI 00 %Dd?@%
e’ QOW TILFBDT PO ST TRFT ROPT #d:g%qu
QTOTORLDONBY. DTIFTTHOD TR 'e,acgba"ojaﬁzL TR ‘&’ D
LORITYS. LB 0BR, SROFIe ?

“A” a workman died due to an accident while performing the
duty of an employer. Subsequently it had been proved that at
the time of the accident the workman was under the
influence of intoxication. Whether employer is liable to pay
compensation ?

SROTT BSF TR, VS LAND BOTPFTY e’ 0 TR
STFIBE TITEIN0T AFTTMITYS. [0BC ST HOTIF T,
Y7 FFERD WOT,T WRIOTIT 0T AWETINIY T,
TOTOTRR) VBEO BROTI TRFMOT B[S ?

0302/0722

Marks : 10x2=20



lll Semester 3 Years LL.B. / VIl Semester 5 Years B.A.LL.B. /

B.B.A.LL.B. Examination, June/July 2017
LABOUR LAW

Duration : 3 Hours Max. Marks :

Instructions: 1. Answer Question No. 9 and any five of the remaining

Q. No. 1.

Q. No. 2.

Q. No. 3.

Q. No. 4.

questions.

2. Q. No. 9 carries 20 marks and the remaining questions
carry 16 marks each.

3. Answer should be written either in English or in Kannada
completely.

Explain the impact of Industrial jurisprudence on Labour

Welfare Legislations. Marks :

TORFT UYL TOAINY e BRRENT T9,00T0RT TS,
QWOR.

Explain "Industrial Dispute". When does an individual dispute

become an Industrial Dispute ? Marks :

“ud@?jeﬁé @md”dcﬁg{ QDROR. CINTPNR 2WOTD igjojoﬁé DITR)
@zi@eseﬂ% DTTINZT 9

Discuss the liability of the employer to pay compensation
under the Workmen Compensation Act. Marks

FIIFT BOTT LHACNTIT BRODY, RROEFT BOTT VeI
mcﬁséw&?p’{ UR3FR0.

Explain the different kinds of benefits available under

Employees State Insurance Act, 1948. Marks :

19483 500730 To%g; R FOWTORRONY, BRTOIVE DVF
BOSRERINTRY, DTOR.

0302/0722

100

16

16

116

16

P.T.O.



0302/0722

Q. No. 5.

Q. No. 6.

Q. No. 7.

Q. No. 8.

2- N EAEA LA AR

Discuss the provisions relating to ‘Health' under the Factories

Act, 1948.

19480 502007 S 52C00TCDRCEDE, ‘@d@erjséé’ FOLODRT
ma’wocﬁﬁ@@ U3R3F .

How to determine the contribution towards Provident Fund ?
Is there any mechanism to recover dues from the employer ?
Explain.

P, AN Wodrt APFORNT Wik Terk 7 DodReesE0n
TOTIOCRTONLICTINTI LD RALCDEMIN 03T0Y)TIITTR
3080T3030¢ ? QEOR.

Explain the provisions of Trade Union Act relating to the

immunities, available to a registered Trade Union.

FTIWIFTT R0P LOHV0ITOT ejsosoda JRCOTIDOT T TT #ozw%&

0

Qo= m@ﬁeﬁ@ QTORO.

Write short notes on any two of the following :
(a) Workman

(b) Layoff

(c) General Fund of Trade Union.

CIRRTTTR NSRS 32080 OF &5HEP W0 :
(Q) TNFT

(2) dren 2200 (e & )

(%) F0FE0 ROPT RRT, Y.

Marks :

Marks :

Marks :

Marks :

16

16

16

16
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Q. No. 9. Solve any two of the following problems :
03303Y)TOT3R QTB WNBOR :

(a) ‘Karthik’ a workman who is laid off by his employer at Tumkur,
refuses to accept an alternative employment in another
establishment belonging to the same employer situated in
Mysore. Karthik wants to claim layoff compensation. Decide. Marks : 10

‘TSFT T D0 @mréaﬁmwﬁa :a"d BROET B0RBROTOTT
FATDEICA0T emdda 2)0T° mw@wm , 950 BROEBI
dsw@d@dm daéfaodo ORTODY, ucﬁﬁwd Spvatol erﬁd&
w%mm @U@émmﬁ FWET @éﬁsm emde,—b wo@aﬁa
wamd TEOD0 f&&%@é@)ﬁ QT OO.

(b) 35 women are employed in Mythili Industries. Since only
two women workers were having children below 5 yrs. of
age, the manager of the Industry refuses to provide creche
for the children. Is the refusal correct ? Marks : 10
289¢ QorR ¢TI 35 TonROR), JeoT [WHRTTRT. wEoY,
fawdo éoﬁfq@ﬁ dRé 5 ddow%oé a&% mé@domd e:ed@ocﬁ
IR0 @mr&é& @mrﬁcﬁac‘) ézﬁa TOOTD %eoa’ﬁdo
LWENTLO QOBORISYR. B3 0BT modawcgﬁe‘)

(c) Anex-prisoner brought an action against prison authorities
alleging that he had contracted tuberculosis as a result of
dust to which he was exposed while working inthe prison.
Will he get compensation ? Marks : 10

28), 0023 83,0030 TR WO ROTIFTY. BRYSY For
awa@,m’ a’as@'amfboa %Qjozmené aoabmseﬁ DOTI
WORATDT0  LRTONY ﬁoeeﬁ Qﬁd@@w m@ wamdsm

%e@o@é eSBIN DOTOT Nrbgdoiae SO




